LR 2478
SYIRIVNTETHE
RACK MOUNT ADAPTER

HikEiEAE
INSTRUCTION MANUAL

|) — & —E At
LEADER ELECTRONICS CORP.
T223-8505 HEMBLRMER2TEG6E33H

TEL : (045)541-2122 (X &)
2-6-33 Tsunashima-Higashi, Kohoku-ku, Yokohama 223-8505, Japan

PHONE : 81-45-541-2123
http://www.leader.co.jp




HAGZzREICTEAVV-ELCESIC
GENERAL SAFETY SUMMARY
FARUCAT U b - TR, RO L - Al 155 s £ ORA O - it &
BRI BT 00 LOTT, BT FROWS - EETHEF>T TR S0,

Review the following safety precautions to avoid operator’s injury and loss of life and prevent damage
and deterioration to this instrument. To avoid potential hazards, use this product as specified.

Z&/WARNING

B FRRLCICET A2Z4EIE Warning Concerning the Screws

FEHR UL, AN TR > THREDHEBEB L OESOLOEMEH L T W, et
DR EHHT 2 & BEARRICEEL RIT L, KK, KE, &, Fie CORREE 2D £,
Use screws of the specified type and length according to the assembly diagrams. Using other
screws may adversely affect the unit and can cause fire, electric shock, malfunction, accidents,
and so on.

\. J

AE%VCAUT@N

B AL TICEAYT 5FEZEIE Caution Concerning Assembly

AL TORE, DTy PETH R 2T H8ENRHY FFTOT, +HEE L THALTT
<TZEWN,
Exercise caution during assembly to prevent injury, such as from the edges of the metal plate.

B RU#EOMIT LY ICEYT S EEFE
Caution Concerning the Screw Tightening Torque

RUITBHDIICED 5, TROK DT A7 120> THED T TEE W, KO MFI & R A
EAEUET, o, MOWMT 2 LMECOREAET, WTNLBEORRK &7 5,

Fasten the screws according to the tightening torque of Table regardless of the shape of the
screw head. If the tightening torque is too low, the screws may come loose. If it is too tight, it
may lead to breaks or elongation and can cause a malfunction.

FEUE  Nominal Diameter #HOHAHT LY Tightening Torque  (N-cm)
M2.5/M2.6 41.2
M3 59.8
M4 147.0
M5 294.0




2.2

[ZC&HIC INTRODUCTION

ZOENE, VA —EBORBEERBEW FIFWEEEE LT, #lch Ve 5> TE8WET, #
ih 22 A TRV 2 < T2 TR ARNCAR RSB & 2 R R £ TRHAWZiZE, ’inolE
LWMEWE 2 i B, ZHEHALTES N,

Thank you for purchasing LEADER'’s product. Please read this instruction manual carefully to
ensure correct and safe operation.

{£#% SPECIFICATIONS
¥ZE  General

ABEE, EIACKEE F TESNWIELT194 T 7 v 7 IR 2R 1T 572007 »
I NTHETETT,

The LR 2478 is a rack mount adapter used to attach Leader's products to a 19-inch EIA
(Electronic Industries Alliance) standard rack.

Xtis#EFE  Applicable Models

LV 7330 (LV 7330 2 5 DfHAEHE, F7213 LV 7330 & LT 4400 D47 HH)
(Supports the combination of 2 units of LV 7330 and the combination of LV 7330 and
LT 4400)



2.3

5\ f25Fi%K Mounting Dimensions

@ LV 7330 & LT 4400 DEAEDHE
The combination of LV 7330 and LT 4400

23.6

426 11

6.1

@ e

318

Cyum—

400

oI}
®

30

®

245

500~650

T—JAT(3) N

EEC@D@DE::::@E::@:E@:

1 | | — 11

)| I— J——1}

[ Y c— Y am—Yan i O —") Y cu—" Y cnm—" Y am—m  am— Y > Y ==Y Y = " Y/ o enm— Y e \ 0~ Y cun )
10} T T

10,

4824

465 #

Moyt

===

=0
o

muLTi soi RasTemizen LV 7330

LEADER nun soi mas:
[ OER EEEE
=0 CEEFE

O: Ok

59152

28

213

X EmICA»o TEMNZ LV 7330 Z DT 52 & TEET,
You may also infix LV 7330 on the left side.

6.

6-6X10 M (Oval)




® LV73302 E5DHEAEHE
Combination of 2 units of LV 7330

23.6

426 1

23.6

r > ’| 7 S
7 E i I i = S —
[ L] s, gL 17—, ) F
,l 453.2:1 L
@ (65)
= 1
\ It
—_— i\
i M H : []
) i
I 1 ‘ 1 i : ﬁ
B B \ - §
| | U
\ U []
ik
ik
e
é; oY o Q_“DDDDDDé‘ ] % %:
® ® ® | ® ® ) § " ﬁ
ik
ik
0 [
ik
9 [N I
| U U
! | ]
436 #1 %
J ® ® ® m S\IQ
|=R= HY =
4822 ! Z’ 7
(85) ‘o5a o) )
® e ) e o 0 I S i E@EE EERER = d g :
& |50 (R EEEE ® 0 ELET D= SR
28 213 213 2 | 3




24

¥HANZE Contents

AT TREOFA THE S TWET, MASL TRIZHE- T,

EELKHAILTTIZENY,

The LR 2478 consists of the parts indicated below. Assemble the parts correctly according to

the assembly diagrams.

B B e w REALE
Symbol Iltem Name Qty. Material Finish
N . ZEoaArt—1F
vaqg vk (X1)
a 2 SPCC Trivalent chromate
Joint
conversion coatings
s , =fonA—+
N aqg vk (X1)
b X 1 SPCC Trivalent chromate
S Joint
conversion coatings
s ; =fonA—+
aq vk (X2
c 1 SPCC Trivalent chromate
Joint
conversion coatings
N =iy A—k
aq Uk (X2)(X%3)
d 1 SPCC Trivalent chromate
Joint
conversion coatings
N . . =y A—F
Taqr bk (X2)(%3)
e 1 SPCC Trivalent chromate
Joint
conversion coatings
=fEonA—+
wFy b
f 2 SPCC Trivalent chromate
Plate Nut
conversion coatings
0 =ik P
YTF7HR—F
g 2 SPCC Trivalent chromate
Rear Support
conversion coatings
. =iy oA—k
A4 FL—L
h 2 SPCC Trivalent chromate
Slide Rail
conversion coatings
. =@y A—+F
AC HR—
i 1 SPCC Trivalent chromate
AC Support
conversion coatings
Ty IHR—k BER
i 2 AB063S-T5
Rack Support Paint

%1 LV 7330 & LT 4400 ##AGLETHMVMTIT 2 LI IMEA L EE A,
You do not need *¢1 for infixing LV 7330 and LT 4400.

%2 LV 7330 % 2 BlAGDLE TR AT S L&A LEE A,

You do not need %2 for infixing 2 units of LV 7330.
%3 TaA ). (e)if. LV 7330 & LT 4400 OO AFIFEIC L > T, EBonFHEHEHLET,
You need either (d) or (e) depending on how LV 7330 and LT 4400 are infixed.
(on either side those units are infixed)




Eias) @& B HE M REANE
Symbol Figure Item Name Qty. Material Finish

NA VRl M3x8 il v

“ % Binding-head Screw M3 x 8 12 Steel Nickel plating
INA 2 Fiha L M4x10 i —vTlL

" Binding-head Screw M4 x 10 13 Steel Nickel plating
NA VR M5x16 i =y

" Binding-head Screw M5 x 16 N Steel Nickel plating
m/paC M3x8 il v

P % Flat-head Screw M3 x 8 8 Steel Nickel plating

S [ , | Fre )
Tying Band Nylon

) ) e ETLEE ] ) )

Instruction Manual




3.
3.1

3.2

$HAHILT ASSEMBLY
JEEZEIE  Notice

@ KELLITIHATE 500~650mm DT v 7 IZxHis L TWES, S0 T > 7T 1T
LbILER A,
The product must be within 500~650mm in depth to be fixed to the Rack.

@ VTHImBLIOERE T v 7 AENEEL T IEIN,
EE LARWBEDOHESICHOWTIE, BEfEE2AVDIRET,
Please be sure to fix the front and the rear to the Rack firmly, otherwise, we could not be
responsible for any damage or injury incurred by this.

#1{% Preparation

@ AHGOMASN TITIZILLTO TANMETT, BEHRAF TIHES TN,
For infixing a LV 7330 in a Rack Mount Adapter, following tools are required. A customer is
requested to prepare the tools for himself.

c TTARTAN (2F) Screwdrivers for cross recessed head screws (type2)
- FR Gloves
- HEBIEM Y A RS R Antistatic wrist band

@ LV 7330 & LT 4400 OEWREYI > T, ACT X7 %% DC AN HHNTLTEI0,
After powering off LV 7330 and LT 4400, take off the AC Adapter from the DC terminal.



3.3

fHAILTFIE (LV 7330 &LT 4400 DA EHHE)
Procedures for infixing LV 7330 and LT 4400 within a Rack

Z 2 CIEIEmIZ Ao THBNZ LV 7330 B0 £H1F 2 FllEZ R L E T,

LV 7330 %, IEMEIC[A2> TEMIZEO 1T Z L b TEET,

Here Assembly Procedure is described for fixing parts on the right side facing the front of LV
7330. We could fix parts on the left side in the same way.

1. LV7330 . L@ &EfMERE EMZRYNLET,
Take off the screws and foots on the 4 locations of LV 7330.

f/

LV 7330 Bottom View

O
R !

2. LT4400 5. RABERMZERMYSNLET,
Take off the foots on the 4 locations of LT 4400.




3.

LV 7330 &£ LT4400 %23/ > bc)&>aA > be)THEAELT, UZHR—FQ)ETY
DU R—rHERYFITET,

We fix (combine) LV 7330 and LT 4400 by tightening the screws (c) and (e) firmly on the
units, then, fix Rack Support (j) on LT 4400 and both Rear Support (g) and (j) on LV 7330.

IEMEIC A7)y TEMIZ LV 7330 2D AT 235 E1E, YaA v Me)dRbvicya A~
MA)ZFEH L T 7ZEW0,
In case you fix parts on the left side, you are requested to use (connect) (d) instead of (e).

k N'
| p P
2 > ®
A&%Q<>¢BTY

\\T>i\/‘
/ é,> I\\‘

LV 7330 & LT 4400 [CR 54 FL—JL(h)ZEBRY {1+ T, X4 KL—JL(h)IZ AC HKR—
FOZRYMFITET .

Fix Slide Rails (h) on LV 7330 and LT 4400 and, then fix an AC Support (i) on the Slide
Rails.

2T A FL—=/L(h)DEEMEL. 7 v 7 REORITZITHEDETI LI,

The position for fixing a Slide Rail (h) must be decided according to the depth of the Rack.




D REANBEELF

v

BQ

RIR/NY F@QTACTHF TR ERY I+ TH

~

AC HHR— (i)l
‘a-o

5.

Fix AC adapters on an AC support (i) with tying bands (q).

10



3.4 HHAILTFIE (LV 7330 2 5 DA EHHE)
Procedures for infixing 2 units of LV 7330 within a Rack

1. LV7330M 6. oL@ &EfMEREEMZERUYNLET,
Take off the screws and foots on the 4 locations of LV 7330.

?/

2. LV73302E8ZTV3aA 2 b@)ETIMIVIMD)TESLT, U7HR—KoETvIHR
—rO)ZEMYRFITET,
Combine (fix) the 2 units of LV 7330 by tightening the screws (a) and (b) firmly on the 2
units.

11



3.

LV 7330 TR 54 FL—IL(h)YZBRYFIFT. XS54 FL—IL(h)IZ AC ¥/R— b(i)ZEY T
(1%, ACHR— Fi)IZKIENY FTACTETIZRYMFITTHSE., T v I EREAE
ELET,

Fix Slide Rails (h) on each of LV 7330 and fix an AC Support (i) on the Slide Rails then, fix
AC adapters on an AC support with tying bands.

ATA RL—/Un)DBEENEL, 7 v 7 AEOBATEILHEDETIIZE W,

The position for fixing a Slide Rail (h) must be decided according to the depth of the Rack.

12



®

Following information is for Chinese RoHS only

BB EEYIIER
S8 LR 2478

bR IE T A S 1 AR T, KPR 200642 F 28 T A AT
CHLTAE S iy e s i g B/ m) BAAST/T11364-2006 € HL-F15 8™ s G

PEHIbRRER Y , Rz e e 4 G v BRI . BE R IR BN R
FIARR, B SF 5A P A i e A AE A E R s, s H SR e 5
FHIRRIERR A, P2 AN ST A IR 5 YR A 7= 5

7 3 A JE AR (0 5 P A5 B K R A AR SGE 2

PRGN &R % BB T

77 i AT B AT Y UG SR I A B T R

A 44 R HHEAEYRECR Hazardous Substances in each Part
Parts i K 5 NP EQLNISS 2 IR AT
(Pb) (Hg) (Cd) (Cr (VD)) (PBB) (PBDE)
I S SH X @) @) O @) @)
B A @) @) @) @) @) @)
eIV @) @) @) @) @) @)
£

O: KRRz B FWIAEZBIE AL TR R S I /EST/T11363-2006 MUE AR KRBT

X FORZAT AT TR EOT R BRI RS TR R R S R S T/ T11363-2006
e R E (K PR A K

13

Ver. 1

Mar. 9, 2009 @



	製品を安全にご使用いただくために
	1. はじめに　INTRODUCTION
	2. 仕様　SPECIFICATIONS
	2.1 概要　General
	2.2 対応機種　Applicable Models
	2.3 外形寸法図　Mounting Dimensions
	2.4 構成内容　Contents

	3. 組み立て　ASSEMBLY
	3.1 注意事項　Notice
	3.2 準備　Preparation
	3.3 組み立て手順 (LV 7330とLT 4400の組み合わせ)Procedures for infixing LV 7330 and LT 4400 within a Rack
	3.4 組み立て手順 (LV 7330 2台の組み合わせ)Procedures for infixing 2 units of LV 7330 within a Rack


